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QUESTION 1

You are troubleshooting a clustered failover problem at a customer site. The customer explains that both storage
appliances were NFS mounted onto the Solaris host. You attempt to create a file on the NFS mount point for the
inaccessible appliance, but you get the following error:NFS server filer2 not responding still trying.Symptoms:

1) When not in takeover mode, both storage appliances operate normally.

2) In takeover mode, the taken over node is not accessible on the network.You perform a "cf giveback"

and you can now create a file over NFS on both appliances.

What should vou do first to resolve this issue?

A. Replace the cluster interconnect card and run diagnostics "all" to ensure proper system operation.

B. Replace the NIC adapter.

C. Use the cluster-config-checker.cgi to identify the problem and corrective action.

D. Submit a new bug report.

Correct Answer: C

QUESTION 2

A volume can contain up to____snapshots concurrently.
A. 125

B. 225

C. 255

D. Depends on capacity and number of disk drives

Correct Answer: C

QUESTION 3

Which three of the following configurations would increase data transfer rates for traditional volume SnapMirror?
A. The destination and source contain disks of the same size.

B. The destination and source contain RAID groups of the same size.

C. The destination and source storage appliances are no further than 30 meters apart.

D. The destination and source contain the same number of RAID groups.

Correct Answer: ABD
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QUESTION 4

In cluster takeover mode, the shared interface assumes the identity of the:
A. local interface only

B. failed partner interface only

C. local and failed partner interfaces

D. None of the above

Correct Answer: C

QUESTION 5

The required hardware to add SyncMirror to an existing system would be
A. disk shelves and cluster interconnect

B. disk shelves and termination switches

C. disk shelves, Ethernet adapters, and cabling

D. disk shelves,Fibre Channel adapters, and cabling

Correct Answer: D
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